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Abstract

When 298r4 and IBSS changes were merged, issues came up so change Figure 37 to
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Error in example from an earlier change to state machine so change Figure 34 to
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On eof the changes to the state machine, meant that eapol MIC failures should be discards so change the following text to reflect this.

Change 8.5.3.5 line 40

“Is less than” to “is less than or equal”

And delete  sentence “if the replay counter”

Change section 8.5.3.6 line 2

If the MIC is not valid, the authenticator sliently discards the packet.

Change 8.5.3.7

Item 1, if this is valid the supplicant siliently discards the packet.

Change 8.5.3.8

Item 1, and if valid silently discard the packet.

Change 8.5.5

If the MIC on any of the eapol-key messages fails, the supplicant silently discards the packet.
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